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Sketch a picture of each type of graph J
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I can'solve systems of equations
y=2x+4 y=—4x-16
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I.can solve'system word problems

The school that Stefan goes to is selling tickets to a choral performance. On the first day of
ticket sales the school sold 4 senior cifizen tickets and 3 child fickets for a fotal of $83. The
school took in $124 on the second day by selling 5 senior citizen tickets and 6 child fickefs.
Find the price of a senior citizen ticket and the price of a child ficket.

X= Senie L%X+3V._«_g3 .

_ . _ 5X +GYy = 124
N = Child Yy ~U X -5y J _3x
Senioe Mo ts By = ~4X O — N
e BT Uy e
chld Rokats ¥ =22 - %y b2 o
cost 9 Y= 5 —2(

On Monday Joe bought 10 cups of coffee and 5 doughnuts for his office at the cost of $16.50. It turns
out that the doughnuts were more popular than the coffee. On Tuesday he bought 5 cups of coffee
and 10 doughnuts for a total of $14.25. Use the system below to answer the question.

10x + 5y = 16.50 X= (0FFez _ [\&‘f 5y :‘953(;0
5%+ 10y = 14.25 = Q\QU%\AV\UTS ¥
How much does a doughnut cost? _213 = w

‘,1 SY+lou=i429
( 5/ %‘OB — S« E — 5% ¥~ 3,30 -2 X
Dougnpwts  cost 9= 1405 -Sx

o ""’""rém"
¥.50 Y= 1425 - 3%

A TV station executive is planning the new lineup for next season’s shows. On Monday nights,
there will be 4 sitcoms and 4 dramas, for a total of 320 minutes of programming, not counting
commercials. On Tuesday nights, he has scheduled 6 sitcoms and 2 dramas, for a total of 248
minutes of non-commercial programming. All sitcoms have the same length and all dramas
have the same length. How long is each type of show?

Xz Sitcom X 44y 2320 -
§ =droma —Gy 3TN ~8\Z,\‘*’lﬂ =k
SitCovn  3Twin | L&E) = 320 —-UX - =N
: = 2Y -
Droman B3win [ 4 G 3 o
/ N = 30 = [ X V= 134 -3x

Several students decide to start a t-shirt company. After initial expenies for $280, they
purchase each t-shirt wholesale for $3.99. They sell each shirt for $10.99. How many must
they sell to break even<

a3 Y TI0 99 ¥ \[= 3.99% + 250
X =TSt of
N = osk Tway wost S\t 4O

-Shurts An brealCoven
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Describe the correlation coefficient

r=.25
NO  (oree\od o
r=.90
S0 V\(ﬂ PoSiRve
- Wea_ Mggo\ﬁ UL

NQ  (grrelahon

se the line of best fit o defermine future values

Use the line of best fit to answer the following questions

Temperature vs. Daily Ice Cream Sales
A for Dairy Dream Ice Cream Shoppe

500
450 -
400 —
350

-

Daily zgf 3
it —
/

Sales 200

150 s

o _
100 =

\V/ Temperature °F

1. Based on the line of best fit, predict the daily sales if the temperature was 64 degrees.

J A5\ wSale?

2. Based on the line of best fit, predict the temperature if the daily sales was $300.

(04




Use the table below to answer the following Speed (milh) Stopping Distances (ff)

questions. 5%
\ 10
1. Whatis the slope q ‘ %L% 15 45
2. What is the y-intercept - 36 ' \ Y 20 64
- 25 83
3. What s the line of best fite Y= 4.7 9% -301§ 55 G
4. Whatis the correlation coefficient and 35 135
what does this mean about the data®e 20 163
‘ q

9 45 198

Stony  PosiivLy

5. Using your best fit line for this data, predict what the stopping distance is after 60 miles per hour.

N=4.84(L0) -30.1¢ X=(0
\ = [200.23-F+\

6. Using your best fif line for this data, predict the speed in miles per hour it would take for the

stopping distances to be 230 feet. \( =] ,%O
230 = 4 gUy -30.1¢
T30.1%
130 \Y —E27 .
2001 = 4 g4 Y X=52 ] W\*/“]\
454 o FY ]

The correlation of SAT scores and grade point average (GPAs) for a random sample of high
school students is represented by the line of best fii ?\ = (+P#

N=A0X+1000 - Spr Scoce

a) Based on this trend, what will be the score of someone who has « 3.0 GPA?

M= ©(3) 41000
\f = JI20 SAT So€

b) Based on this trend, what will be the GPA of someone who eared a score of 15002

500 = 4o X +1000 QAo
— (000 ~ 00O i+ doesn©
T (Z/ ML 2

200 =4O v — N g opa

40 S 5



Year 1991 1992 1993 1994 1995 1996 1997 1998 1999
Attendance
(Millions) 250 261 278 261 275 293 298 298 310

Revenue
(Billions of 6.2 6.4 6.9 7.1 7.3 7.8 8.3 8.6 9.2
Dollars)

Use the data above to answer the following questions.
1. Whatis the slope__s O 4
2. Whatis the y-intercept — g' LO C(

3. Whatls the fine of bestite_N = O 1% = 5, (09

4. What is the correlation coefficient and what does this mean about the data?

A4S Stvong POSIMvE_

5. Use your line of best fit fo determine how many people must go to the parks before they

make 13 billion dollars. ,5 _
5= . 04T X ~5.0L9
9.6 509

__n,_i oUW OY X = 3’27‘va{\,
{A N

6. Use your line of best fit to determine how much money the porkfmcxde when there were
150 million people in attendance.

N = OUT(iso\ - 5. 69

= @u oy [ o doﬂ()k\"”g

oy
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fory 2ls
Which answers are solutions of the graph? A ﬂ
a) (2.0) w7
(0.4) s
c))2.8) .
(-2,0) i,
e (4.1) 7/
SiOpe: q - g 40 - ; 3 10 D
Y-intercept: ) X
(0,4)
V
Which answers are solutions of the graph?
X A
(@10-) \,
o) (-4,1 e
c) (2.8) :
) (3.1) .
(-8.9) .
' o . 4 10 >
Slope: D / 9\ : ]
S

<




Two linear functions are described below. Based on the information below, which of
the following statements are true?
M= -3

Function 1 has the equationy =-3x + 5 b= S
Function 2 is aline passing through the points (0, 5) and (5, -10)

X
JFunction 1 and 2 have the same slope. ‘ \5( z92
Function 1 and 2 have the same x-intercept
Function 1 and 2 have the same y-intercept - (O - 6 - l S—‘ - 2
Funoﬁon I and 2 represent the same lines. - T - A

5-0 5
N = o3 +5

1. Determine the rate of change and explain what it means.
] ' ‘ Q D , Time | Distance
L‘ ; VV“ M‘[ hOU ¢ (Hours) | (Miles) ﬁ ~
Pu 4 168 : ,
2. Write an equation in slope-intercept C > % L‘f } X

Form O - 6 252 —
\{: LK;){ T 8 336 5
10 420 Lf

3. What does the y-intercept represent?

i+ O Whours T\/UL\,’ e ve” O M

189

4

1. Determine the rate of change and explain A
thf “ means Amount of Dough Prepared (kg/hr)

=2 Ly of doghh w

? r{ﬂ(lrﬁé FC{ hDUV :Jo::gh Prepared

-3

0
60

2. Write an equation in 50
Slope-intercept form. 40
30
o~ ) 20
\(« X TO o
10 20 30 40 50 60 70 80 80100
3. What does the y-intercept represent? Hours Worked

M O hours fwa
wod 0 kg of dogh pecyared




1. Determine the rate of change.

6c-13 ~ -1 T g

2. Write an equationin
Slope-intercept form.

3. What does the y-intercept represent?

HO-O - 4O _ a¢

Height in m

Height Above the
Ground of a Rock
Climber Over Time

50
45

{0,40)

40
35
30

25
20
18
10

™

™

™

18, 0)

2 4 6 8 10 12 14 16 1820

Time (Seconds)

Thae o Climtber Stavtd
40 M abeue tua grovind

|

+

Which table represents a linear function with the same slope asy = - 4x+5

d. 2/3; every time 2 marbles are
put in the jar, it adds 3 grams.

a. ) 3 b. x |2(-110 (|1 |2 M—-)— - ’;l
vy |36 9 [12]15] \ ——
2 =2 4
¢l : Z[1[0[1[2] 2-~4
x 101121314} 4 - 10(15]20]25]|30] |
v |8l =]0 |48 | -4 >
N .
+{ +5
Calculate the slope and explain what it means Weight of a Jar with
Marbles
é, 0.)3 ; every time a marble is put in g ¥
“the jar, it adds 3 grams. ,3.140 - ~1
0 E 120 /
b. 1/3; every time 3 marbles are LQ//-“: 5 ® 100
put in the jar, it adds 1 gram QO :? 80 7
S 60 |—1/1
c. 3/2; every time 3 marbles are 'aq: 40 7/
put in the jar, it adds 2 grams. 2 20
X
0 10203040506070

Number of Marbles




I'can evaluate a function {{\Qﬂ\ ‘iXOlW\ @G,Vkv\) - MOYUCM {7&(&*_ 9/5,,

If f(x) = -2x + 2 then find f(-2) If g(x) =-x2 + 5%, then find g{-12)
=2+ = (1 4 5 (-13)
-4+ 3 :;in~2;!
| =204 |
If f(x) = -4x + 7 then find f (3) If f(x) = -x+4, then find f{-3)

T =R (é)qu {71

A company makes cell phones where f{x] = 32x + 40 represents the cosf to make the
phones and x represents the number of Cel[ phones made. Which statement is

correct? / plug i y\u .ﬁrw 0 Bwd (oSt
a. It costs $8 o make two cell O'F Gl c. It cosis $320 o make ten cell
phones phones
It costs $200 to make ﬂve cell d. It cosis $72 to make two cell
phones phones

32 (5) P40 = y00V

| can determine if an ordered pairis a solufion

Which of the following is a solution to the function f(x) = --x - 6

a) (-2, -5) ;1\ = =5 NS

N

b) (0. -6) - %(B\”b = - \({5\
c) (5,19) *i‘i([)) -(, = _%5 NO
d) (-3, -4) - % (..g) - (p o "’L\ T NO



Which of the following is a solution to the function f(x) = 3x + 4

I 3G Ry = -3 MO
aoe 30y +y =4 NO
dea 3(L) +4 = 22 NO
guos 3 (0) +4 =34 N

Which of the following is a solution to the function f(x) = -2x +1 2 Circle all that apply

a. (40)  b. (37) @(o 1) ©RE

) 2@ Se)y) T (8) T
~3 +) - G fl o + | -G +)

Determine the domain and range. Determine the domain and range.
{(-3,-6), (-1,-6). (5. -6). (8, -6)} {(-2, 4), (-2,0), (6, 5), (0,-2)}
Domain: {"?) -\ 5, ?3 Dcmoin:z~9~,®‘(ﬁ§
R R : 7
ange: {— k@é ange z~'&,0,k\\%%
Is this relation a function? Explain your Is this relation a function? Explain your
reasoning. reasoning.
N5 €aun input hos VO =~ haS More Than
exaciiyy One  OUtput ove  Output

\\



Determine the domain and range.
A

&

\%
Domain: - X > —Y

Range: \I > O

Is this relation a function?g Explain your
reasoning.

N€S , poswes ULt

Determine the domain and range.
A

,
SR i'/ \-\n & B

\Y
Domain: ~| £ Y& 3
Range: . ,
exe Y23
Is this relation a function?g Explain your
reasoning.

NQ, Foals VLT

Determine the domain and range.

1\
\

W

A

Jod

s

LAt

Avi

G LD A D@ L@
< L >

X <
Y «

Domain: X £ 5
Range: y_f:: ;.

Is this relation a function?2 Explain your
reasoning.

NS, passes VLT

Determine the domain and range.

\

- q
/

. \ L /
\ /

Lk /

Domain: ﬁ”” s
Range: N S O

Is this relation a function?2 Explain your
reasoning.

ey, passes ULt




Determine the domain and range. Determine the domain and range.

Number of Identical | Regular Cost of
Notebooks Notebooks (No LR
Discounts) \. i )
7 5.53 e LAY
2 1.58 .0__4 FIEEE. FEEEE .; ! 2K
5 3.95 T ey ‘%’;3
3 2.37 : -
Domain: ‘i Q 3 C> 7 3 Domain: (f, Q ?— 2)’
Range: ¢ Range: P
¢ Sg, 23,3595 5535 | FNS 5'2,0,;,U5
Is this relation a func:‘non2 Explain your Is this relation a function?2 Explain your
reasoning. reasoning.

\0), €aun 1nput NO, 2 hos
nas ono outpur | Two  OutpuT 3

Answer the following questions
about the graph below 1. What is the domain and range?¢

A fon ~
Rate of Soot Production (kg/hr) Domain: O é K L q
Range: | & \/ - L]

Rate of Soot
Production in kg

2. How much soot is the foc’roryc}( ﬁ;@ad
e producing at 122 Y -0 xS

) 2.% Loy

D> 3. Whatis a reasonable domain?

-
- o B m ;N e o

{f 2 3 4 6 6 7 8 9§ 10

Hours Past 8:00 am HV\\/} ;ﬁf b@ﬁk) 20 AN
O 4 9
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lcdn solvereqUations
Solve for x. Solve for x.
-(x + 5) = 3x + 2(x - 4) -3X - 6X + X - 7 = -15x
—X=5 23%4ay % ~EX =T = ~18X
Y -5 = 5y - g T X S
e +X ~ = = v
oD =Ly -y Sy A
% 3 I Tr=—c—
3 = L\ o= 4\ i - X \
Solve forx. (o o Solve for x -
-2Xx—(8-4x) =-18 + 2x 75=3 (-6x-5)
=2 ~ 9+ YY = ~]|¥+2x TS =~1% XIS
AX ~§ = ~[g+ax 1S TS
~9 = -1¢ —~|¥ ~ 13
T =T
(ND So ibﬁ? /-5 =% |

Describe the steps in both math and writing for solving the following problem: 3x 4(2 + 5x)=12

Mdth
3X=ad=5y =12
~AAA =\

t2 2

Written
(LDistripute = Sigw
2 (CM i@ LW fecnl

O amws

@ Dimda g

s S l




~Ak+6=1—-4k—1 45— 4} +8b =88

UG & Hb-1( +8 b = -§<
b= O 7 -1 = —8%
[

\ U +1
00 SHORON | h e
17 2. D="w
~18~8n=2(-6n+5) Tp+4—4=—12+Tp+5+7 L—"""

“{=Tn =~z + LD e =P

Hlevy e .
Az e | 020 ,
T LALIE [InFinire Soluhons j

Hon = 2% Vi“‘ ME

1+6n+6n§=—6+4::§§w = % -198 =-3(-6 + 7n) — 6n

4H12n = -G +in “19¢Y = 19 -2 ln -y
= 1ln — N -1a¢ = 1€ -2
(%

L+ = -y =
ISP — S 2l = Z2an
;V\ = ~7 Z A7) M?}*?W
S = nl
L«i\? = N\

| can represent real world problems

The length of a rectangle is 7 cm more than twice its width. The perimeter of the rectangle is
32 cm. What are the dimensions of the rectangle?

L Ht+ew= 32

| —1y —~ |
w& R e : Leagtin= q+als)
G = <.
1t avua e
. —

The length of the rectangle is 6 in. more than its width. The perimeter of the rectangle is 44 in.

What are the dimensions of the rectangle?
(+L0




in slope-intercept form and graph

X y Which linear equation models this fable?
—|_-10 iy
[, 5 :63 >f3 a. y=5/3x+9 J=3/5x+9
0 9
5 12 | c.y=9 d. y=9x+3/5
10 15 | 2

Y\/\:S
b =9

Saif is sitting on fop of a building and fosses a ball down fo his friend who is on the
ground. The height, v, in feet, of the ball is a function of time, xin seconds as shownin

Which statement best describes the meaning of the y-intercept of this

funciion?

@The ball is originally 11 feet above the ground.

. The ball reaches a maximum height of 11 feet.

the table:
X Y
0 11
0.5 12
1 11
1.5 5
2 0

c. The ball takes 12 seconds to reach the ground.

d. The ball reaches a maximum height affer 12 seconds.

Graph the inequality Graph the inequality
Y > 2x+4 A A A
T Y <-3x-4 X '
fff/ Y87l Y
VY 147 \
AV , T
VI THA TV VAR WAY
VAV A7 AW, \
& A1 N <. \\ \ \ N y
SEA BRI e R ERARENY \ >
i n [HAN
I \\ VAREAN
AT VS NBAA N
VitiB ® §\ \&
7 * W 3
117 i 1N
i : Y ANR\YAY
g > NEANEAUAE
< 7 Y -
A \ N ¢

=




G5y 32

Solve then graph 4 > 2(-x - 8)
5x + 2 < 2 - 4 BRI G\
~2 -2 i&iﬁ tlb
Sy L2X~ P 2 > -3¢
oy~ —= =
| - 4L X cR>-0
3 L~ E— ot
3 13 < I T I { : ) 5
W L Yy 3.5 -1 O P VAN
<1 ~G-5-Y
9n -8 < 12n + 4 3 £ -3[(x-9)
Wg'z,m i?«: 3¢ Zy + 27
" M’ 1Y "“:Ejm m%j? §
“2n < 2 N > L{' 2d & 3y N
=2 3

X >~
76 >4(1 + 6K) | 80 > —4(-5 +3x)
m;“% >M;H-&’~HC— 0 = Ao -1y

72 > a4l
ay Y .

3> >k o L4d

PSS SN
L 234 5

~4{—6—3a) +4> 6a+ 16
QU +Ra+U > Ga+\lp
2a+39 > (atll

(o é’;ﬁ

“Ge e PR iy N
o Fag > (b W2 o

~2 € &‘?{ L

S .




